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Show your working clearly in the space provided for each question and write your 
answers in the spaces provided. 
 
   

6. Total number of notebooks & files  bought = n + 3n = 4n  

 Excess cost of notebooks = $25 

 Cost of 4n files = (160 – 25) ÷ 2 = $67.5 

 Number of notebooks and files bought = 3n = 3 x 5 = 15 

 Cost of each file = 67.5 ÷ 15 = $4.50 

  

  

 

  

Ans:  $4.50 
 

 

 
7. Radius of semi-circle = 15 cm 

 Area of 2 semi-circles = π x 15 x 15 = 225π  cm2 

 Area of 2 quadrants = π x 30 x 30 x 
1
2
  = 450π cm2 

 Area of shaded crescents = 60 x 30 - 450π = 1800 - 450π cm2 

 Area of shaded region = 225π + 1800 - 450π = 1800 – 225π = 1093.5 cm2 

 
Ans:  1093.5 cm2 
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8. Diameter of small circle = 10 cm 

Diameter of large circle = 20 cm 

 Perimeter of 4 quadrants of small circle =  π x 10 = 10 π cm 

 Perimeter of 1 quadrants of large circle = π x 20 x 
1
4
 = 5 π cm 

 Perimeter of shaded part = 10 π  + 5 π = 15 x 3.142 = 47.13 cm 

 
 
 
 
 
 
 
 
 
 
 
 
 
Ans:  47.13 cm 

 

 

9. Ratio of Mei Ling’s savings to her mother’s contribution = 60 : 30  2 : 1  

  2u : 1u 

 Total savings = 1u + 2u = 25.20 

 3u = 25.20 

 u = 25.20 ÷ 3 = 8.40 

 Amount her mother put in = 1u = 1 x 8.40 = $8.40 

  

   

 

 

 

 

 

Ans:   $8.40 
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10. Let u = time in hours from 8.30 am 

 Distance travelled by Peter in 1.5 hour = 1.5 x 70 = 105 km 

Distance travelled by Peter = 70 x u = 70u 

Distance travelled by John = 90u – 105 

(8:30 is1.5h after 7am) 

 When they met, 
 90u – 105 = 70u 
 20u = 105 
 u = 105 ÷ 20 = 5.25 hr = 5 hr 15 min after 8.30 am 
 = 13.45 hr = 1.45 pm 
 
 

Ans:  1.45 pm 
 

 

11. Let number of children = 12u 

 Number of stamps of 
1
2
 of them = 

1
2
  x 12u x 4 = 24u 

 Number of stamps of  
5
12

  of them = 
5
12

 x 12u x 3 = 15u 

 Number of remaining children = 12u – 6u – 5u = u 

 Number of stamps of remaining children = u x 2 = 2u 

 Total number of stamps = 24u + 15u + 2u = 41u = 533 

 u = 533 ÷ 41 = 13 

 Number of children = 12 x 13 = 156 

 

 

 

 

         

Ans:  156 children 
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12. a) 

Let total number of people who visited exhibition = 100u 

 Number of boys + number of girls + number of women = 25u + 32u = 57u 

 46 + 2 x number of girls + 88 = 57u 

 2 x number of girls = 57u – 134 

 2 x (25u – 46) = 57u -134   (Number of girls = 25% - 46) 

 50u – 92 = 57u – 134 

 7u = 42 

 u = 6 

 Number of men = 0.43 x 100u = 43u = 43 x 6 = 258 

 b) 

 Total number of people = 100u = 100 x 6 = 600 

 

 

 

Ans:   (a)  258 
 (b)  600 

 

 

13. a) 

∠EDC = (180 – 106) ÷ 2 = 37°  (CDE is isosceles) 

 ∠FDH = 37 + 18 = 55° 

 ∠FHD = 180 – 52 – 55 = 73° 

 b) 

 ∠HGJ = 180 – 73 – 40 = 67° 

 ∠FKG = 67 – 52 = 15° 

 

 

Ans:   (a)  73° 

 (b)  15°     
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14. a) 

Average height of first 3 men = 5.01 ÷ 3 = 1.67 m 

 b) 

New average height after 4th man joined = 1.67 – 0.08 = 1.59m 

 Total decrease in height = 0.08 x 3 = 0.24m 

 Height of 4th man = 1.59 – 0.24 = 1.35 m 

 New average height after 5th man joined = 1.59 + 0.06 = 1.65 m 

 Total increase in height = 4 x 0.06 = 0.24 m 

 Height of 5th man = 1.65 – 0.24 = 1.89m 

         Ans:  (a)  1.67 m 

          (b)  1.89m 

 

 

15. a) 

Let t = time in minutes after Tap X was turned on at 10 am. 

Volume from Tap X = 2.8 x t = 2.8t litres 

Volume from Tap Y = 3.2 x (t – 2) = 3.2t – 6.4 

Volume from Tap Y = Volume from Tap X 

3.2t – 6.4 = 2.8t 

3.2t – 2.8t = 6.4 

0.4t = 6.4 

t = 6.4 ÷ 0.4 = 16 min after 10am = 10.16 am 

b)  

Volume of either tanks = 2.8 x 16 = 44.8 litres 

Area of base = 56 x 32 = 1792 cm2 

Height of both tanks = 44800 ÷ 1792 = 25 cm 
        Ans: (a) 10.16 am 
         (b)  25 cm 
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16. a) 

 Let Figure Number = n 

 Number of shaded square in Figure 5  = n + 1 = 5 + 1 = 6 

 Number of unshaded squares in Figure 5 = (n+1)x (n+1) – (n+1)= n x (n+1) = 30 

 b)  

 Total number of squares = (n+1) x (n+1) = 256 = 16 x 16 

 n + 1 = 16 

 n = 15,  Figure 15 has 256 squares 

 c) 

 (n+1) x (n+1) = 529 = 23 x 23 

 n +1 = 23 

 n = 22 

 Number of shade square in Figure 22 = n + 1 = 22 + 1 = 23 

 

         Ans:  (a)   6,  30 

          (b)   Figure 15 

          (c)   23  

      
 
 
 

 
17. a) 

Discounted price before GST = 0.8 x 2370 + 0.7 x 1250 =1896 + 875 = $2771 

 Price including GST = 1.07 x 2771 = $2964.97 

 b) 

 Amount he paid for 2nd computer = (3445.40 – 449.40) ÷ 2 = $1498 

 Payment for 1st computer = 1498 + 449.40 = $1947.40    

 Price of 1st computer before GST = 1947.40 ÷ 1.07 = $1820 

 Price of 1st computer before discount = 1820 ÷ 0.8 = $2275 

Ans:  (a)  $2964.97 

 (b)  $2275 

 


